Pre-AP Station #1

-ind the Inverse




Pre-AP Station #2

-ind the Inverse

f(X)=x"+2

(fog)=6x—1



Pre-AP Station #3

-ind the Inverse

f(X)=+x+1

2

(fof)



Pre-AP Station #4

-ind the Inverse




Pre-AP Station #5

-ind the Inverse

f (x)=5x-3




Pre-AP Station #6

Find the composition if f(x)=3x+5

(fo1)(-2




Pre-AP Station #7/

~Ind the composition If f(x)=—x"+x+1
and g(x)=—%x+1

(92 F)()

f(x)=2x-2



Pre-AP Station #8

~ind the composition if f(x)=vx+3 and
g(x)=—x*+3

9(f(x))

f‘l(x):iz\/—(x—l)



Pre-AP Station #9

~Ind the composition If f(x)=2x-5 and

g (x)=3x+2
(fog)(X)

(fog)=x"+2x"+2



Pre-AP Station #10

~Ind the composition If f(x)=x*+1




